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Shawl « Clair-Obscur » 

 

Material:  
Needles 4mm 
1 ball of Kunstgarn color 01(100g/420m), 
Stitch markers , row counter. 
 
Abbreviations : 
M : stitch marker 
sl: slip stitch (slip the stitch knitwise from the left needle to the right) 
p: purl 
k: knit 
m1 : make one stitch see the tutorial there. 
K2tog : knit 2 together  
K3tog : knit 3 together  
Yo : yarn over 
X : number of variable stitches present in the jersey section, where the increases and 
decreases are made. 
(…) x2: repeat the motive between ( ) 2 times. 
 
Points and other informations : 
 
Stocking stitch : 
Right side row : knit all stitches 
Wrong side row : purl all stitches 
 
Garter stitch : knit all stitches on right side and wrong side rows. 
 
This shawl is triangular; there will therefore be a section of increase and decrease 
section. It is built with:  
- A straight edge with a slip stitch and 3 stitches of garter stitch, it will be represented 
in purple on the pattern.  
- A part of Stocking stitch, represented in green, where will be made the increases and 
the decreases, the number of stitches of this part is represented by X, because it varies 
constantly according to the progress of the work. 
- The lace part is noted in red, and the number of stitches indicated is only for the 
lace edge. 

http://lesaiguillesdecamille.com/category.php?id_category=78
http://www.tricotepastout.com/archives/2013/02/09/26371255.html
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Increases : 

Cast on 19 stitches, knit 4 rows in garter stitch : 4 stitches, M, 1 stitch, M, 14stitches 

 

Row 1:(right side row):sl1, k3, M, kX, m1, M, Yo, K2tog, k3, Yo, k5, Yo, K2tog, Yo, k2. 

(16 st in the lace part) 

Row  2:(wrong side row) : k2, p14, k2, M, pX, M, k4. 

Row 3: sl1, k3, M, kX, M, Yo, K2tog, k4, K3tog, k2, (YoK2tog) x2, k1 (14 st in the lace 

part) 

Row  4 : k2, p10, k2, M, pX, M, k4. 

Row  5 : sl1, k3, M, kX, m1M, Yo, K2tog, k3, K2tog, k2, (Yo, K2tog) x2, k1 (13 st in 

the lace part). 

Row  6 : k2, p9, k2, M, pX, M, k4. 

Row  7 : sl1, k3, M, kX, m1, M, Yo, K2tog, k2, K2tog, k2, (Yo,K2tog) x2, k1 (12 st in 

the lace part) 

Row  8 : k2, p8, k2, M, pX, M, k4. 

Row  9 : sl1, k3, M, kX, m1, M, Yo, K2tog, k1, K2tog, k2, (Yo, K2tog) x2, k1 (11 st in 

the lace part). 

Row 10 : k2, p7, k2, M, pX, M, k4. 

Row  11 : sl1, k3, M, kX, M, Yo, (K2tog)x2, k2, Yo, k1, Yo, K2tog, Yo, k2 (12 st in the 

lace part) 

Row  12 : k2, p8, k2, M, pX, M, k4. 

Row  13 : sl1, k3, M, kX, m1, M, Yo, K2tog, k3, Yo, k3, Yo, K2tog, Yo, k2 (14 st in the 

lace part). 

Row  14 : k2, p10, k2, M, pX, M, k4. 

Note: at the end of row 13 (and row 14) there are the 14 stitches in the lace part, so 

you can start again in row 1 without problem. 

Repeat this pattern until the piece measures approx 90 cm and continue to the 

decreases.  
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Decreases : 

Row  1:(right side row):sl1, k3, M, kX, K2tog, k1 M, Yo, K2tog, k3, Yo, k5, Yo, K2tog, 

Yo, k2. (16 st in the lace part) 

Row  2:(wrong side row): k2, p14, k2, M, pX, M, k4. 

Row  3: sl1, k3, M, kX, M, Yo, K2tog, k4, K3tog, k2, (YoK2tog) x2, k1. (14 st in the 

lace part) 

Row  4 : k2, p10, k2, M, pX, M, k4. 

Row  5 : sl1, k3, M, kX, K2tog, k1, M, Yo, K2tog, k3, K2tog, k2, (Yo, K2tog) x2, k1 (13 

st in the lace part). 

Row  6 : k2, p9, k2, M, pX, M, k4. 

Row  7 : sl1, k3, M, kX, K2tog, k1, M, Yo, K2tog, k2, K2tog, k2, (Yo,K2tog) x2, k1 (12 

st in the lace part) 

Row  8 : k2, p8, k2, M, pX, M, k4. 

Row  9 :  sl1, k3, M, kX, K2tog, k1, M, Yo, K2tog, k1, K2tog, k2, (Yo, K2tog) x2, k1 (11 

st in the lace part). 

Row 10 : k2, p7, k2, M, pX, M, k4. 

Row  11 : sl1, k3, M, kX, M, Yo, (K2tog)x2, k2, Yo, k1, Yo, K2tog, Yo, k2 (12 st in the 

lace part) 

Row  12 : k2, p8, k2, M, pX, M, k4. 

Row  13 : sl1, k3, M, kX, K2tog, k1, M, Yo, K2tog, k3, Yo, k3, Yo, K2tog, Yo, k2 (14 st 

in the lace part). 

Row  14 : k2, p10, k2, M, pX, M, k4. 

Repeat the pattern as many times as necessary to return to the original 19 stitches. 

After the 14th row of the last pattern: make 4 rows garter sts with the remaining 19 

sts and then bind off; Bring in the threads, block the shawl, cut the threads.  
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Appendix: lace edge diagram 

 

                 

row   

 
 

  h h                     h h 14 Wrong side 

 
 

      j d j       j       d j 13 Right side 

 
  

    h h                 h h 12 Wrong side 

 
   

      j d j   j     d d j 11 Right side 

 
    

  h h               h h 10 Wrong side 

 
    

    d j d j     d   d j 9 Right side 

 
   

  h h                 h h 8 Wrong side 

 
   

    d j d j     d     d j 7 Right side 

 
  

  h h                   h h 6 Wrong side 

 
  

    d j d j     d       d j 5 Right side 

 
 

  h h                     h h 4 Wrong side 

 

      d j d j     f         d j 3 Right side 

 h h                         h h 2 Wrong side 

 

    j d j           j       d j 1 Right side 

stitches 16 15 14 13 12 11 10 9 8 7 6 5 4 3 2 1 

  

                   

                   j Yarn over 

 h Knit the stitch on the wrong side row 

    Knit the stitch on the right side row, pur lit on the wrong side row 

f Knit 3 together 

    d Knit 2 together. 

     


